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https://www.rewardco.com.au/loyalty-programs-the-complete-guide/
https://www.amazon.com/Blockchain-Loyalty-Disrupting-reinventing-cryptocurrencies-ebook/dp/B07Q7YKGFS/ref=sr_1_2?keywords=blockchain+loyalty&qid=1554414664&s=gateway&sr=8-2
https://www.adma.com.au/iq/course/loyalty-programs-and-consumer-engagement


4

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•



5



6



7



8



9



10



11



12



13



14



15

𝑅𝑒𝑡𝑢𝑟𝑛

𝐼𝑛𝑣𝑒𝑠𝑡𝑚𝑒𝑛𝑡
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Initial Launch Costs (one-off) 1,000,000      A

Operating Costs 50,000            B

Rewards Redeemed 150,000         C

Total Outlay 1,200,000      D

Incremental Revenues 700,000         E

COGS 420,000         F

Incremental Margin 280,000         G

Operating & Reward Costs 200,000         H

Realised Net Profit 80,000            I

Margin on Unredeemed Rewards 200,000         J

CLV Uplift 150,000         K

𝑅𝑒𝑡𝑢𝑟𝑛

𝐼𝑛𝑣𝑒𝑠𝑡𝑚𝑒𝑛𝑡
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ROI Calculation Methodologies: Calculation ROI

1 Revenue / Operating+Reward Costs (E / H) x 100 350                 %

2 Revenue / (COGS+Operating+Reward Costs) (E / (F + H)) x 100 113                 %

3 Margin / Operating+Reward Costs (G / H) x 100 140                 %

4 Net Profit / Initial Investment (I / A) x 100 8                     %

5 Net Profit / Total Outlay (I / D) x 100 7                     %

6 Net Return / Investment ((I + J + K) / D) x 100 36                   %

7 Net Return / Operating Costs+Reward Costs ((I + J + K) / H) x 100 215                 %

8 Net Return / Initial Investment ((I + J + K) / A) x 100 43                   %
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Revenue $

A Total Revenue 100,000,000              data available

B Member Revenue 60,000,000                data available

C Non-Member Revenue 40,000,000                calculated (A - B)

Transaction Volume #

D Total Transactions 200,000                     data available

E Member Transactions 108,000                     data available

F Non-Member Transactions 92,000                       calculated (D -E)

AOV

G Total AOV 500                             calculated (A / D)

H Member AOV 556                             calculated (B / E)

I Non-Member AOV 435                             calculated (C -F)

Revenue Uplift

J Member Value Uplift 121                             calculated (H -I)

K Revenue Uplift 13,043,478                calculated (J x E)

i.e. without Loyalty Program Members would have spent the same 

as Non-members

Issue is self-selection bias (i.e. higher value customers more likely to 

be members)

Members vs Non-Members
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